39l glalULs oL % 9y)—9

IRANARZE.IR

s .
R 039037 it das W gw Juof
Rz (39031 G0 @ ’ ‘
VFeo il ygo3l @ (SO o= -hj‘g) wm)lf @‘M‘

J‘g.w\NJ.oUb ° .
s e 1Fee (Hou wlwlxo (y1909)

« . 7- y (‘

A el ¢ elaseinl L o 5T ooalie #w /

€l oo jlme adye Gl s5s) Bim g0y 1L cnl 5l gyl d ool b Lzl »

[ @iranarze n@iranarze

iranarze.ir


https://eitaa.com/iranarze
https://t.me/iranarze
https://iranarze.ir/blog/news/employment/
https://iranarze.ir/es581

Y axio — og0s Lulgy Jguol| %

Y axio - 2o bLo,yl Slw| %

O axiuo = Olbla,l s as,lal

7 ambio - (oogos bilgy g OLI,1 0 gl o gy

V axdio - 5,5 4ol Jgo! <

A amio — (gogos Lulgy 5o (45,15 (|

\e - ul.a) <

oges bl Jool

(iranarze.ir) 9,15 o,Lil 13 5,90 plas ds M1 8,50 9, il g Slojlul 18 8 ;Slos ( sogos balgy Cu oo oo Shos slo Jlos 51 (8,8 ey -
@S sl (Y &5 4 ()

el oo (F eloizl cdgras (¥

(iranarze.ir) fCaul 8,90 plas & by po L8y 20U 55l g olis] Oyl g W jLi (Sus e 9 liblo plod (goiguind consS =Y

S A (F S, (A

!5 anl (f el Codginns (V

(iranarze.ir) fogi 05 Cgmo B lojlw dzwgi Jolge 5303 j0 ¢y 3 Jole plas -

G, (F Sl (¢ i (¥ &5l (O

(iranarze.ir) £39d (o0 Gy og0s buly) By 51 Sy plaS 352 (ylojlw 43 Cound droler (cogase HIS! i —F

Slesbe o9z (¥ Sloslbe 09,8 (O

el (F 4ol 398 (¥

(iranarze.ir) €5,15 3929 (ogas Lulg) 530z ) (0,55 plaS by (ogoe (Flwy MBI g (Sl LasNl ylojlw 15 Jos 3550 GLasSII S1-0
(L) SSB (Y (@) 1,5 ladl (0

bl SO lgie 4 olojlo 4 (3,55 (F e S plsie 4 lojle 4 b 35 (Y

(iranarze.ir) $4 o0d Camxo cogos baslgy (551 5100550 plas -

Sy aaliys (V a5 9 LLI I ()

gz (F 2ol (Y

iranarze.ir 1Fee 0g0s Taglgy gl U5 anadni alans &Y gw




(iranarze.ir) $cas 5l 5 Gy 2 (ad 5o ol | dawgd ool ag) - Y

«olojlw J&1s 53 pgoall (s£0o 9 9w 30 lojlw gdlae JS'g ogos bulg

ik spe (F Sldeatne oIS (¥ Jla S, (¥ BYs0 dmas ()

(iranarze.ir) Suscumd (b pdy paiie b 15 (il yglgs ply S by 30 ¢y o481 plas —A

9095 (F sdyne (¥ R L3l ()

(iranarze.ir) Sl bli )l ool plas Fig  blio pl il b ,oiy 9 & o alBolo bl -4

Sy (F &S bl (¥ CosbolB (Y S pdy aale (1

(iranarze.ir) fogi o0 ©gmmo Cdwdd Jol(y j digs ﬁ‘-;\S bl 3L o) b (Siqpe )

wilaie (F LS s (F | l;_j,.al(\’ a1 (0

(iranarze.ir) feusl (bL,l ol plos slo (S5 &Mf“r" usws@;w aosi bLS 1 55182 -1
p TS N\

(iranarze.ir) €34 oo wgmxo plsy 3 u.bt,u,,s sbL..' X ‘;u, Jusm @.—J 5y03 33 ol plas—1Y

B N I N TNt

(iranarze.ir) ST oo ,lga?i;;q‘lsil.ojbu LS )l oy §BgSIl 310 y30 plas—1Y

Lgi-a;l:...': ‘_gf.“(x’ _ v bl ass (O

S pete gsSICE L sl opls ass (Y

/) I ; '/ " (iranarze.ir) S 26 lp paie o9 5 (owlwl V¥

4 ' 4 o

F 4 w - -~ \" . . N 4/. _ -'/
Cdaa (P - VY4 ol (v Gl oo (¥ oaass ()

" _./l Y
L (iranarze.in) S b plojle 5 ol €oakiS3giis Jolger 313590 alaS S ) > olF s bl —18
AN g ;.wir(f‘ L sy (Y Gsi> (¥ Cdgtans ()
f / // s

/4 (iranarze.ir) (s o wuST aulis 5 (53006 Cugiumo 3 45 Conl (omoz (5bb sy 3103590 plaS -7

Bl el (F 0353 (¥ ol (¥ glazzl ()
v/ (iranarze.ir) $cel i colo plas (bl 65551 Jai caSo 4138 Loy -1V
Jo¥ gl (Y oy S JL)le Sy (

5930 55055 (F Cglowsd VIS (¥

(iranarze.ir) Scal mox oo ailuy o (i 51 S plaS B yme il yd SlEgl yans» jeeds —IA
=k g (i (1 &r5 5 s2isel O

JraS gl (F el g colaa (¥



https://iranarze.ir/es581

(iranarze.ir) $cans 31yl pl oDl OSSN pauas 10 €S2 gS b dilu; b S5 HED pei 14
b ks (F JFNENG J Jils (¥ 520 251 0
(iranarze.ir) ol « gluil awi» o Hlasay Lice 3 9590 plas —Ye

Ssmeli (F L (¥ Slegelas (¥ o ()

(iranarze.ir) $cus glul « Sledlbl axol>» -YY

Je¥ algla (Y stelsS 55T ()
el (F Jg¥gmge el (¥

(iranarze.ir) SCuwms pais u.a,a/k,\,:l, gl e (59T g5y Joo 5o —TY
{ 7\

o (F (Y (| 1M(v s ()
\ \

\ \ \

(iranarze.ir) Sl ¢|,.;] ub,,, u-“:*"’ o) aolijgy plas —YY

~ t
Sl asdls (1\' \R RN ;/ &y ()
a3t u‘ o \ \S “1\4 L als (v
é’ ;5“ \\‘ ‘\‘ // l ) ',I O

,- \ | VY 4

(i (F @M <r } /' ' ,@:Lw ml,, 55 ()
1 4 / "vl’-\ "./' Fo X
—— \ tlranarze ir) v:,.s o JS Bosb 1S 5l ol ladg I Y0
,./‘,./:P‘"'- _7"‘;_ VIN/ \
. 6}5“ Slyw _\.,..4) (\’»\ e oz b alu, ()
VS T \\ Q
/7 5 / /, N . P \\\ \.‘-. N\ S - P
7 ([ ( 75—\ —
/74 3 N\ / ] \ fm
///; N\ /S S ee—m—
/ ///*‘ S (iranarze.ir) $o,lu 092 pais laS el bLS I 40 -Y5
' ' | FABRNY ' ., L A
J/\VN(\N) // Q
N ‘// ’ flﬁ;\(f\ S p r/,/ M,,.: (\" alwg (Y 0w ,8 ()
\“" A\ 4 _"-y
/7 (|ranar¥e .ir) v,.,....p,.l.\s el SLEE U 50 3 (5951 4 o 5€ dolijyy o 5 ooy S —TY
¥ | { J / .
ad | ( S e
'/-’:\\'.\'\\ N\ . /,/ /,/‘ l‘\ /v,/ ,\3\\" Cany ¢ e :.|5 ¥ QJ-J )‘”U O
77 N\\\ Y A/ &
J/ NN VI AN
‘J/,"; A \_\ J /,:'/// i_\\:\..' )““U 55)9.»5.:.! (f ‘_\,5,49_[ (\"
4 7 N\ / -:__\ .

// o) -
(,(lranarze ir) vo,»/qﬂl,g 3909 dily i oo ool a5 Cowl (BLI I (295 S (61908 Sl (F519 31 03390 oIS ~YA
’ ~ " S

)

%\ \ e |
N\ /,"/"' " ~ ‘:.LAMU 41 ‘55|.>)‘ o Q)
\} A LN N
S’ N/
- of Blasxsl cobB (F oy 35 e (Y
‘T‘J"l‘
A (iranarze.ir) el 48z (eMbI b bl )l Cou -4
JS e e
8yl s (F sy 4 JS (Y

(iranarze.ir) S jl « g5 Jilwg Mool ( bLi,l Jilug 5,185 ol ;o -Y
95 SLB (Y ooolS 039, ()

S 55 S5 (F BB el (¥




Sl g 43,15

(iranarze.ir) Seawl ool y 3 310 s ki plas BT 10 (g uiSIl ads» Mol (dd 5o oyl 1 olibg 55 bawgh pukicd)-Y)
agls oI5 (Y B dsls (N

gl o Uyl & (F il ol

(iranarze.ir) Scawl ous & phao LS 4> bwgi « Sob 18 23 Luor g «odgi Kb o Y'Y

selS 5 s (Y 7oeS 552 3 53,551 ()

o8 5 posIT (¥ sosdl 5 53,990 (F

(iranarze.ir) Sl Caod| 3lo (Kb 13 Cxio (535 0 diowd o|9.'».c‘;g fdl,g, plaS (L) gaSSl 10 Cuso Hhai 51 =YY

Febn sle Sbs (F O sl (¥ W\ sol, (¥ Lo O

(i_rariar'zé;‘ir), Y « Fgoa» ilasl -YF
%\ N : Jr7r7 N\

)AALQS)}Q uuch (F' ‘ \ < /‘ A - c:, , L 93)5.)] 99955 (¥

(iranarze.ir) $,15 ,1,8 bLs )l mlslsly Ao 55 po 53 (o blie Cagh (s 8 JSb § Kidndiogs —Y
sl Sasl gl / / Q Caaglie [ x5l ,o ()
P 2 N Q' Cugh [ihpan (7

QS 35 oo 7 ylan (5l a5 4 1y €ouidS 8 Lo S S 503 (5lo las > 9 € ks dnangi (5o 4 4515 93 4315 (ol SSiubay oIS —¥5

' 7 f /

A\ (iranarze.ir) 39351 &l gabao 4,15yl
oA S SR

)

\_/ A N\ (iranarze.ir) ?,;%@l";m &1yl oS 4z il 1 s oD £ g3 Gy pasnndis —FV

, 75 wtm ;,Nlo « Kbl s ()

WV A 4% e S plogs (¥

/ / / N ,:/f,il/" ‘§i1,:§;{;rze.ir) Tl 0391 4z o p8 (yod (2895 e ¢ il Mgyl 4y a5 (ool s —Y'A
“\\- >, F ‘ \ ol caro Jlaul (Y Lo dad Jlass! ()
. -3 S byl sloul (F Sels Jlas! (¥

0 olid € hs oI Sy 1y bl el sl (yaol s lidios ol diuwd o )lich o,y 6l Gl y g obldyf Glaieidls plas JiglosT ¥4
X

)

LW . .
(iranarze.ir) fuao

crgl 9 w3 Jsus¥ (F sl 9 plr o (F
(iranarze.ir) $ew! ySico plas’ 7 sb (55 pol 0 530 Wlbliyl gilwolil 5 Gilw ogas (2195 &l ko —Fo

FYgd el (F A 571 @l (Y el by O




(iranarze.ir) Scoms 31 <l @ Hlwl Ol ;h =Sl -9

solelyg igas (¥ 2elsS 53l ()

52y ol (F o sl (F

(iranarze.ir) Seww! il diuns p & 415 b (o 5leo g plai plus —FY

oS gyl (V okl ol 31 ()

ol 5 oalizul (F 69,8 e Slis (¥

Wl ol (21 )1 (St IS (0 35D 51,593 45 WIS g0y 3,8 (> b WS g0 5SS (1,500 4zl @ b 0o b el eusie « gy 51 -FY
- (iranarze.ir) ol &y, plas wlwl 9
T Gl (v {\ & o3g8 asal> ()

g8 g lo (F P A \\ seloizl 65l (¥

{, "(lranarze |r)5w~s,l‘,)w -Y¥f

Cmalo 5158 «sm‘-‘fw‘;ﬂ o";’*‘ )é 9 rwf ‘s° é-”) @)Uw &olgz 5o bo ao
fL.u ts‘“j’ (\‘ ‘ \ :“.(‘ ) 1) o \ 9595 M ()
' J oyﬁ) t , ' : v/ ' F5 gssnl (F

\\ (|ranarze‘rr) ?M & %4,;. e s b (DL, Jow —F

e ety N 355 o 0

o~y / > s ‘.‘ \ o N
L s \ a5 S8 (0
/"//: - / N ~’\~ ¢ / / == -
4 - g { N . '-: ) . . o - Y
\ Y erges iy, g wlblsyl 4o Gideh o gy
‘\“ ) \ :I'/ '.~;-:‘3; . i
' {2 (iranarze.ir) fog oo (Ao «CaaBly S 430 g (b, s il b plas by 4o -FF
- { / { > 2
Fas ! \ S rd y >4 *,‘; "_.’
R SRS ,(f",:‘ "// L i (Y G olede (F &S o3lul ()
/ ‘ : (irérjarze.ir) 39 50 )5 4 31,81 335 48 pudlio ol (6,5 03103l (612 e gy plaS —FV
{‘ v'/ ’ / '/ ~/
| ) ‘2,.7“ Julos (\c T ‘le:.v..o ples (¥ u‘"ll"""‘ ~ 55 ()
\ R // (|ran.a.‘|:5‘e.|r) ?a,lo O ojlu b gumais ccuS 5 covudiy pdlio (5 5 031l (gl g (SsST plas’ —FA

euwm (f &5 ol (¥ R\ ik 09031 O
N (iranarze.in) $34: (oo ousoli 42 (5 35 03I Sl CopiesS b oS ~FQ
e\l and b (¥ pocie (¥ ojle (1
(iranarze.ir) $ogd (0 oo b9 gy pIS G (g 3l 5wy g «gikw oylaody —O+

sirog (F =55 (¥ salesT (Y sialesl e ()

(iranarze.ir) $ogd 0 ougoli 4z «d ouyay (o abily 5929 5l (il JYaiwh —B)

&5 ol (F O (¥ 0,8 (Y bl ()



https://iranarze.ir/es581

(iranarze.ir) Sewl ydy ool 6 kol b ¢yg03T elgil 9 Lol ) lawlro E1gil (5 S 0311 31 gbaw plas yo —OY
ol (F &) alals (Y ey s ()
(iranarze.ir) $canl cawbio (g 55 o3Il gdaw plus (4l 95oewly  Jwaxi abw (g 55 03108l gl -OY

w5 (F ool (¥ s (¥ sl alals (0
(iranarze.ir) Sconl plas ( cogae BB Jiomiow Hl 3l o 5wt —OF
cualiwe (F lgzore Judo (¥ a>las (¥ aoldew y ()

(iranarze.ir) $o,15 o,Lil 590 plus 4« 5 Gy 23 —0O

€l Cawd gl Blasl 4 b usS oo b duaiio S B Tume S 1 Gixe 45 (6 o
,/. N \\

L\

S (F ey L« 4 0

(iranarze.ir) $cww! plas «oleMbl baws b o 1y &#}T'&:f} :j;;».g,:;u Jdxi o9y y —OF
= i | NN\ N\

P \ . |
/ N\ N\ ry |

Jedos a1y (Y [ \\/ A AR\ 7 Geios oy ()

s AN N\~ ())) dgas (¥

(rANAIZe.ir) Scusl (s o8 Wigai Ghay P15 SUb (5523 31 Cpomos® § € 55 Wgad w92 yla 3o 58,5 4158 (glt il il (sllac! ~BY

‘;u,,lu(v 'yfi‘ 4 A 5 &aie ()

—Me X S N3 S5 (¥

- —

-~ (iranarze.ir) S 0ld Ay e )

.

wm L;",’;) i’h'\s il ‘«‘:cl.o.‘:.'?l aloldr wlio -OA

LSS o (F L el 255511

/ —

// o (iranarze.ir) el gole S jlao g Slusl by b ST 805 30 5 ST plas -4
f / G 1 N\ ) V4 O
L AP o J e r
éML&A(f\ —~ /‘/ 4.._—>La.«()"" AAL....L...»)A (Y 6)|.>).‘| U’“ZJ (\
\ S AR 4 R \ § > ¢
(iranarze.ir) foas o &l ousyl (gl p Iy i (s by g 4t oy 25l 9 (510 Lo 90 (b 55l & Béioxo «Gulini g plas )0 —F+

AN\ 7 SaNv S 2 eSS (Y gy Julo g a2 ()

Y ' AY 4 =
S S 7/ “. B
“',,/./ “ .",\‘:’ 6)§5 o= (f Q|9.~.: I
{ / 4 N
f l "— "/./ .:“-/
‘.\ e /I '; —
)y oV 355 4obijg, Joo!
N N 7, LI
r 4 /
. of (iranarze.ir) Scams &olgs L 30, ol Collan Soww —F9
7

v/ o el (¥ o Lol s (5o b ()
ETA 9)ly oo (¥

(iranarze.ir) §5 ;.5 o )18 j5 Coound plas jo Yooro i (ybo —F¥

p9> Fud 5 ol S5 o (¥ 5 Ry s 2 om (0

SYsb slo s e S5l o (F Fb 4 g ol S e (F




(iranarze.ir) $ew! y casbo w9 s Joo! Blxd s conisT 4y Sglaro Loty gy gly « yid plos —$Y
Obb g S )3 5928 pl o (¥ 2538 ol p3 18,8 Lk g B ()

285 salySl 3 ) 5908 puli 133 ol g B (F 255 B 1) 5988 puslpee 108 Lk g S0 (F
(iranarze.ir) Suil pud &z 9 (Slegubro b e -FF

o)l - S e (F 38 e e 55 ()

(6258 pm 25 ~ S-S e (F P8 358 pm y ~ S e (F
(iranarze.ir) Suil plus s (0,15 10 Jhwogi b Jhuog dlacl -£0

g slael (Y P 6]..9‘ slael (

G S Slasl (¥ ‘f : s slael (¥

(iranarze.ir) $ag4 0 oolisuwl dguro plas 3l ‘SM.S cq)lo.w ;;’,.f)asm b olael gldail o —£#

oolye (F sae (V. f / N ..\;5)5 (\’ oK (A

(iranarze. |r)f‘.>,m,_s.ou,,...ae s..»&néyda‘dohw ieli,.n s.,a:w)l &0 ySe -FY
‘5)550‘5&« cs"'e;l’u‘&“« ﬂ s‘L‘-’g&(Y ',u “, ‘S)MU‘S‘(\

(iranarze.ir) Scew! 6)15" Mb),} 8',.“ )l & Pl..\f ).n)é Ja;» “sl 43)9 Iy el t)"’b cole, -FA

Gg s (F - )Af,fwl_\.a x @l; (v iz ()

; - 7 ‘ ¢ (|ranarze |r)?w| o g8 az ko () ol —£4

/ / ([ ( ™ « 5;5 gl oo 41900 332 (oMol (159 ulo”
Y “fapaf;e 'f) “W‘ S £ A7 G (0 £9,5 yhuo 3l e i b G155 Ve
st ¢ . , 5;L->| I\ sheos (¥ o ()

A\ l,(ifan‘ar'z;e.‘ir),?‘c.....l Cq,w..o ‘é,ls.' aolijgy 30 «plegh g « Wby 3l solisuw! pguas 13 3590 plas —¥)
‘A, &

7/

; // , .\5@ Caliz alm! (¥ s 3l ()
( { | .°5) )lS 4 ;-‘L;‘w‘ 6"‘\"" \.sJ"-" Exose &5 83)lge o (F S0y ik ae cdhe 4 sl (¥
| | ; \.(lranarze.lr) Sl aigfer Wb i ol 0T 43 bgy yo Sl gy 45 (ol ( amwgi yiud yo VY
d 5,1,}151.“ (f o5l g Laa (T et (¥ £,kae O

(iranéri:a.ir) Cnl (o B B3] AT (G110 €855 0 T 35095 ensd (shal331 Ay saVhusl (5196 yuliror VY
3,55 6 Sy 0+ s (Y Saie g olass Slsl 8 45,55 5+ O yed ()

555y + s (F G5 23+ (V

(iranarze.ir) o9 cod Qo 5155 5,55 5 s Fhg 5l S plos -V

b Codly (2l g 0 (Y @A g oy ()

csloiz! sl bl 5 awlin b o,les (F S5 sakd wlie oLy (¥




(iranarze.ir) $ogi 0 by yo (555 dalijg) 0395 plus 4 b ailuy (g3Lw o)1 L ablio -V

i (F Sle,l (7 drwgs (Y soales (A

ogos bulgy 5o iy oyl

(iranarze.ir) fcunl 880 plus ;0 ( Jleguao b dlio b o Lidl by Alio oves wolai -VF

Slesilae sls alie oyos 23,155 (¥ Slesidae sl alis Gl ()
Slegae clo alis sl s opos o L5 (F Slessdae gl alie Lazil Lolss (¥

(iranarze.ir) Scow! ?gx\a «Jogd Ji» pgas ;05,80 plos —RY
:" wmuwl B es o5 U555 o haié ()
Mo uol.w‘ o? @ |) oS pasl isu Wb (Y
\ ({
:" leJ?" 5 rw-“-\sr? 9'”-“ SIS ojmee g (¥

|

(1ranarze ir) *‘..wb a,ﬁ ..ub L,.a,l,s by g S5 -YA

’."',-' 3 J =

ol g g5'1 A)jbu ~ \ " ) : "“u‘ oS g ailool ()
P—‘-“"""" P ;u,.o “5_\9 g\° 4 ’ : »‘.;,\\;‘ Slwls g 3 55l S5 (Y
i 4 fewly —VA
el ()
/ / ‘. / | ,.u,e = Jw — Corlyo o i, (F
| /d (|;ana:z;a r) ?a\;.» ‘5» 4..&5/‘_,:-..» rm,.o @".'.\;, 0P LS sl mo g b o i 3l caiiigi g3 plas jo —A+
\ Gum (\“ l _,p.z: <v ooy (¥ SO
A\ Y '(‘_ /7 I (franarze.lr) 059, 0 slons 4 Flegubro sl alita 1551 512350 pIaS —AY

' Y //\/ &4
/ / / A\ /1/ OL‘/}“)&?"*;; 5 sheree 0 (¥ E3os0 yd Bazg 5 5 lulad ()
‘ ( 2 'l,,'.';'_‘,-/cml ,\_,1;: Olej Esse 3 s (F G sl iyl 5 polic ys Samg (F
AN « /7 o Granarzen) S(as e ol bsgd oo ad) sl s oui b ol 50 05 IS 3,115 ~AY
~—r’ ulaLe,.::f.,.l. (f Sl gt (¥ ol 8 (Y Sledlb! ()

- f

‘ ,J . (iranarze.ir) Seol <laléy (6,138 ailis plas (5 @ le a1 azgi b —AY

401 (Gl candl ( Slojls 2 (5ly2 jgel> 1S GLSHI 4 lbs e

() alaki g0 (¥ () alaii (¥ © JsSns (¥ (©) 095 ()
(iranarze.ir) Sog oo GHb! 3 90 1S a4y (5 o 2 —AF

€S 0 Y ploj CdBd gy (o (4018 HLaS b LIS £439 1 aF ol gl anls»

ol (F Sas (¥ Jss (¥ o ()



https://iranarze.ir/es581

(iranarze.ir) 95,15 giulyg 4 3L 5 @ ke plas —AD
2655 alowl a3¥ sla s (Y o 4 epoel oye 4 ()
DB et 090 a1 (g8 (F 22 5 52 555 (¥
(iranarze.ir) fogi o ooliiw! i £9i plas 31 lg S 31 Lil jwo 9 S o b dad jo (g s 30,5 (510 —AF
RS g o (V ks ()
Slels (F aoles (¥
(iranarze.ir) Scuul guoo o2y b alS 5l coliiwl dgus o gas 13 3 80 plaS (B )5 j0 —AY
A B by o 1) oM aS e eoliul ols aalS ()
AOb otd BB s e (sl AT 0gd colaiul ole aLls I (Y
Byls gy B Jolao aS 598 colawl sla aals 51 (Y
2,5 eolawl wls (=B SlalS 51 IS 5ol 4 (F
(iranarze.ir) S0 15 @ cw )8 b ;o Wb (2o b AL Pl U ) 5o b dols —AA
3 e JSii 4y L (¥ @2
O awlsly o, sle als (F B (Y
(iranarze.ir) 9s )l caisllas « Jad b olgi» o le plas’ y0 —AQ
25 oo i e o e U5 (Y el plas b 550l (il (O
55 s e s Sl (F ot il s oS 2 (F

(iranarze.ir) ool aigks 4y 8 4 J2d Bis (o) 3,15 ;0 -4

Sl e wgline Oz (gl y Ladd (¥ sl ()
e plol s alex Y LY 5l i ol (F il gylae Jubl gl 6o b (r
a4l

Reading Comprehension

Direction: Read the following two passages and select the answer choice (1),(2),(3) or (4) that best answers each question.
Then mark the correct choice on your answer sheet.

Passage 1:

Do you know the history of public relation? It has existed for centuries. from the ancient Egyptians to the medieval period, people
have been using device and channels to relay important information to each other and help keep subjects aware of what's occurring.
These methods of communication have helped shape what we know as public relations today.

There are many examples where public relations has been used throughout the ancient world. For example, around 469 BC, the
Greek philosophers (like Socrates, Plato, and Aristotle) realized the value of public opinion. These philosophers and many others
taught noblemen the art of persuasion through rhetoric (i.c public speaking or spoken publication) (prepared by iranarze.ir).

In 394 AD, Saint Augustine acted as what we know today as a public relations director for the imperial court. He would deliver

eulogies to the emperor and the public regularly to benefit the church.

iranarze.ir 1Fee 0g0s Taglgy gl U5 anadni alans &Y gw




While the true founder is debated, public relations first served as a way to manage and manipulate public opinion through
sociology and mass psychology, however, in its early beginnings, public relations was criticized for sometimes being a major
form of propaganda.

91- Which of the following statements is true? (iranarze.ir)

1) Public relations has a long history.
2) Saint Augustine taught people the art of persuasion.
3) Public relations was pioneered in 394 AD by Saint Augustine.

4) Ancient Egyptians used a special tool which became the source of public relations for today.

92- The word "relay" in paragraph 1 is similar in meaning to................ .(iranarze.ir)
1) cover 2) transfer
3) update 4) predict

93- The passage refers to all of the following ancient Greek philosophers EXCEPT................ (iranarze.ir )

1) Plato 2) Aristotle
3) Socrates 4) Diogenes
94- The word "its" in paragraph 4 refers to .................. (iranarze.ir)
1) public relations 2) Sociology
3) mass psychology 4) public opinion

95- Where does the following sentence best fit into to the passage? (iranarze.ir)

If we were to think about what Saint Augustine conducted now, we'd consider it a press conference.

1) End of paragraph 1 2) End of paragraph 2

3) End of paragraph 3 4) End of paragraph 4

Passage 2:

The following models of public relations are based on research. Using research to gather public opinion data led scholars to
label these models two-way rather than one-way because they more resemble a conversation than a simple dissemination of
information. Grunig and Hunt termed the two management models asymmetrical and symmetrical.

The asymmetrical model was pioneered between 1920 and 1950 by Edward Bernays, nephew of psychoanalyst Sigmund
Freud, and is based on the principles of behavioral psychology. Public relations research seeks to determine what publics
know and understand or believe about the client organization, issues of importance, and so on. Therefore, in the
asymmetrical model, once these beliefs are learned through polling and other means, they are incorporated into the public
relations messages distributed by the organization. It is called asymmetrical because it is imbalanced in favor of the
communicator, the communicator undergoes no real change, but simply uses the ideas she knows will resonate in
communicating with publics with the purpose of persuading them on some issues or topic.

For example, if I am a politician running for reelection and my research identifies tax cuts as an important topic with
publics, then I include the importance of tax cuts in my next campaign speech. Research is a key component of this model,
as it seeks to persuade publics to adopt the attitudes and beliefs that are favorable to the organization based on the collection
of data about their existent beliefs.

The symmetrical model was also pioneered by Edward Bernays and several prominent public relations practitioners and
educators between about 1960 to 1980. It seeks also to use research on public opinion just as the asymmetrical model does.

However, it does not use research with the intent to persuade, but to build mutual understanding between both publics and
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organizations. Organizations are open to changing their internal policies and practices in this model based on what they
learn from their publics.

96- Which of the following statements is true? (iranarze.ir)

1) The symmetrical model is a one-way communication model.

2) The asymmetrical model is a one-way communication model.

3) Both symmetrical and asymmetrical models are two-way communication models.

4) Both symmetrical and asymmetrical models were pioneered in the first half of the 20™" century.

97- The word "dissemination" in paragraph 1 is similar in meaning to ......... (iranarze.ir)
1) protection 2)circulation
3) construction 4) production

98- Which of the following statements is true? (iranarze.ir)

1) The asymmetrical model is not necessarily based on research.
2) In the asymmetrical model the communicator undergoes a real change.
3) The asymmetrical model was pioneered by psychoanalyst Sigmund Freud.

4) The asymmetrical model is based on the principles of behavioral psychology.

99- The word '"them" in paragraph 2 refers to ............ (iranarze.ir)
1) tax cuts 2) the ideas
3) publics 4) public relations

100- Where does the following sentence best fit into the passage? (iranarze.ir)

It is a collaborative approach to building understanding, and, although not perfectly balanced, it is a moving equilibrium
in which both sides in the communication process have an opportunity to have input and change an issue.

1) End of paragraph 4 2) End of paragraph 3

3) End of paragraph 2 4) End of paragraph 1
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